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（包括的単価個別合意方式）



N 2

it

£

THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T E (A5
EHE R
= 1 43, 284, 500
JE T
= 1 27, 626, 223
I L
m3 9, 400 3, 863, 690
el Twp =7y b L pEEME 5,
000m3 L4 _E10, 000m3 45
m3 8, 300 294. 3 2,442, 690
P T RO
m3 1, 000 1,170 1, 170, 000
FEHIA (h=27) -1+ £50, 000m3 A
m3 1, 000 251 251, 000
FEZEN T
m3 1, 800 1, 115, 689
B (L) B - 4. 0omPd |
m3 1, 600 242.6 388, 160
A () &+ 2. 5mPA 4. OmA T
m3 110 891.9 98, 109
A () &+ 2. BT
m3 110 5, 722 629, 420
R T
= 1 2,614, 104
EE R (B) 1350) BUGHIRE VB L W R OWE
CREYE
m2 2, 580 900. 3 2,322, 774
IR S AC =R T T A o0 M B35 K fi
m2 650 448. 2 291, 330
P T
= 1 20, 032, 740

[ rxmd A R




HOflf =%

THEX Sy« TH - FERI - HH50 MoK T B B G AT & G| T (GEEM)
B S AVHE T OB
m3 6, 300 133.8 842, 940
b TE D CEUL EHIRY L& T
m3 6, 300 3,046 19, 189, 800
T
= 1 4, 746, 950
AT
= 1 4, 746, 950
TR BCA JEEHEE L 1000m28L_E
m2 650 233.8 151, 970
% Lkt JE2em % AIRAT T 1000m2LL_E
m2 2, 580 1,781 4, 594, 980
Pk A& T
= 1 4,121, 463
EE LT
= 1 263, 813
RAE D b 120m3
= 1 36, 684
MRL 60m3
= 1 180, 060
LR IE 110m2
= 1 47, 069
LI
= 1 3, 781, 630
7" VAR AN US3-B300-H300 (3 @h277")
m 175.6 12,770 2,242, 412
7" VAR AN BF 1 -B300-H200 (#f#t277")
m 34.5 6,771 233, 599
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THEX Sy« TH - FERI - HH50 MoK T B B G AT G| T (GEEM)
RV 25 7T V=Fv7" % B300MH T-25
bie 17 18,233 309, 961
RV 25 av))-hEE US3-B300JH (&m@IAT))
bie 318 3,131 995, 658
AR 2 E- T
= 1 76, 020
BUGFT B AE Kt SM-B500 X L500 X H600 2/7)—}®)
&0 1 53, 420 53, 420
* 17 v=F77" % B500 X L500 T-25
e 1 22, 600 22, 600
[N
= 1 693, 090
TAT7 V%S T
= 1 693, 090
I e i (3 - BT 0) FAEIT9vTy RC-40 R0 JE 200
mm
m2 755 918 693, 090
5 3 At L
= 1 1, 097, 649
FEARI BT R 1
= 1 1, 097, 649
B =h V- WAL Gr-C3-2E 50mLA L 100mk
i R A 1 A
m 65.5 16, 758 1,097, 649
RARBRIR T
= 1 371, 700
RARBRIR T
= 1 371, 700
A - AT A (NTTHE T 2 #5)
m2 1, 800 206. 5 371, 700
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YN/

THX Sy - THE - RSB - Bl MoK & GE il T (GEEM)
FGan
4,627, 425
THAERK LT
1, 658, 694
T E L
1, 658, 694
AT
250, 922
AT WA NERBHE L 1000m22L 1 540m2
126, 252
LR AT JE2em & R4 T 1000m2LA E 70m2
124, 670
LI
1,188, 816
R D b 20m3
6,114
MRL 8m3
24, 008
LR IE 30m2
12, 837
7" VA NURLRI T US3-B300-H300 (i f@z77") 56. 4m
720, 228
RV 25 1 Vv=F/) % B300H T-25 6k
109, 398
RV 25 av))-hEE US3-B300JH (Am@IAT)) 1014¢
316, 231
HIRT
290, 394
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
IR PEKE BB EER )V ¢ 600 PN E-VE 13m
P
E]
= 1 290, 394
TAT7 V%S T
= 1 683, 910
I JE A (i - BT ) FA759v457 RC-40 1 0 JE 200 745m2
mm
= 1 683, 910
FEARI BT R 1
= 1 554, 689
A 27 WAk Gr-C3-2E 50mPA L 100mk 33. Im
i R AR I
= 1 554, 689
B T
= 1 43, 284, 500
BTl TE:
= 1 6, 280, 000
BTl TE:
= 1 1, 575, 497
e 2y
= 1 1,073, 800
A AR NIl T 2 %) 5, 200m2
= 1 1,073, 800
BUGERRYCEE (K5 1)
= 1 501, 697
MR R (B L)
= 1 4,704, 503
Wi
= 1 49, 564, 500
BTk X=giiv oy
= 1 16, 302, 735
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)

R 5]

= 1 65, 867, 235
— e

= 1 11, 832, 765
T HAlik

= 1 77, 700, 000
THE B 2 %8

= 1 7,770, 000
TG

= 1 85, 470, 000
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